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THEX Sy« TH - FERI - HH50 MoK T B B G AT & # T (GEEM)
g
= 1 134, 032, 423
JE T
= 1 783, 060
P AT
= 1 783, 060
FEHIA (h=27) -+ £50, 000m3 A
= 1 125, 280
b TE [/ees
= 1 657, 780
e L
= 1 122, 883, 455
EE LT
= 1 354, 045
ESh=E 1SN
= 1 117, 319, 810
FERREA AT 9747 740~0 17. 5em& 48 2.2
0. 0cmbh T
m2 250 1,472 368, 000
¥ Layy)-}h 18-8-40 (F47) HJE 10cm
m2 250 3,103 775, 750
FEEEMZR 18-8-40 (i 47)
m3 12 40, 613 487, 356
av)-p 24-12-25(20) (FJF) —MkaeE 1/
71 = MR R e
m3 1,206 27,738 33, 452, 028
av)-p 30-12-40 (FadA) —MxaAE 2v7)-H
[ A
m3 720 28, 800 20, 736, 000
ERAR SR235 9
t 0. 04 197, 253 7,890
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A SD345 D13

t 1.95 223, 169 435,179
R SD345 D16~25

t 45.95 164, 561 7,561,577
ERAR SD345 D29~32

t 11.76 151, 923 1,786,614
A5 SD345 D35

t 2.46 153, 846 378, 461
A5 SD345 D38

t 6. 46 154, 762 999, 762
ERAR SD345 (3 UFigkf) D29

t 5.12 184, 890 946, 636
ERAR SD345 (3 UFigkfs) D32

t 67.87 183, 242 12, 436, 634
Y] SD345 D35

t 1.4 263, 004 368, 205
A SD345 D38

t 3.49 262,913 917, 566
Tl — AT

= 1 360, 090
Tl — AT

= 1 21, 227, 980
SR V=40%m3 f <40kN/m2 [t=120c

m]

= 1 41, 085
SR F=<40kN/m2[t=120cm]

= 1 5, 023, 480
SR 40kN/m2<f < 80kN/m2[120<t < 250¢

m]
= 1 109, 080
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SR £>80kN/m2 [t>250cm]
= 1 2,484, 810
) Bty ML
= 1 5, 604, 480
2 KK W=300mm t=50mm
m 55 1,444 79, 420
W HEHEK EEER Vv (FILE) ¢ 150 4
7T s
m 15 5,103 76, 545
BLIAM PREL L
m3 380 914. 1 347, 358
REFR y7v-yexfsR 0. 21kg/m2
m2 132 2,332 307, 824
TERR L.
= 1 5, 209, 600
B 24-12-25(20) (&@4)
m3 86 41, 144 3, 538, 384
ERAR SR235 ¢ 9
t 0. 02 197, 253 3,945
A SD345 D13
t 1.65 152, 931 252, 336
ERAR SD345 D16~25
t 9.37 151, 007 1,414, 935
% T
= 1 10, 365, 908
B R B T
= 1 8,715, 948
SHRAR VA SEEJSHAR R X 10. 00m -3
SRR B 9. 50m
bie 136 25,018 3,402, 448
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SRRAR IVE SEEJSRRAR R 12, 19m -5
SAARAR B PR 10. 45m
e 28 28, 461 796, 908
SRRAR IVE SEEJSHAR R X 15. 50m -3
SRR B PR 13. 62m
e 16 35, 641 570, 256
SRRAR IVE SEEJSHAR R X 18. 89m )
SRR B PR 17. 5Tm
e 36 42, 884 1, 543, 824
ToN-BRZE 6 12. TX6A
m 58 4,967 288, 086
ToN-BRZE 6 12. TX8A
m 183 6,172 1,129, 476
BIEEAY) i
i) 26 6, 684 173, 784
BIgk-fEk L
t 15. 48, 388 730, 658
BS54 SR PCERR, BE4)
= 1 80, 508
RImE T
= 1 1, 649, 960
AR RFE AR B
= 1 1, 649, 960
B T HE
= 1 134, 032, 423
B ST ¢
= 1 15, 254, 257
BTl TE:
= 1 2, 695, 599
TR
= 1 1, 355, 760
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IR T
= 1 1, 355, 760
Htre m
= 1 120, 970
B M R FEART IR
= 1 53, 846
BV O ) - E S B R
= 1 67, 124
BUGERRYCEE (5 1)
= 1 1,218, 869
MR R (B L)
= 1 12, 558, 658
Wi
= 1 149, 286, 680
BTk X=giiv oy
= 1 41, 871, 961
R 5]
= 1 191, 158, 641
— e
= 1 29, 721, 359
T HAlik
= 1 220, 880, 000
THE B 2 %8
= 1 22, 088, 000
TG
= 1 242, 968, 000
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